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Objective: Find the Average Rate of Change for a Square Root Function

Concept

Average Rate of Change = ﬁf(f’:)

Af(x) _ changein f(x) values

—— f(,xZ,)_f(xi} fE}F’ _Ehe

: interval [x, x,]
Ax change in x values Ao —Xy

* The average rate of change is the average change between y values for
each unit of x over a specific interval.

* The average rate of change for an interval corresponds to the slope of the
line through the two points at the ends of the interval. This line is called
the secant line.
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Objective: Find the Average Rate of Change for a Square Root Function

Ex) The shoulder height h, in centimeters, of a particular elephant is modeled by the
graph of the square root function below, where the age, t, is in years of the elephant.
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Objective: Find the Average Rate of Change for a Square Root Function

1e function, d = Vv0.5h — 2, where d is

average speed 4 h o *“iiiirisji. Round your answer to three deC|maI
places.
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Objective: Find the Average Rate of Change for a Square Root Function

is the distance the obje
object’s average speed from 7 seconds to 12 seconds. Round your answer to

three decimal places. d ) L/(;29\/5 F
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